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X TTEEXSE B % HFf HEHE

Bt &L
L (B6EHAR)
RHET 23 36 59 35
5 A BT 23 26 49 24
KHET 70 76 146 71
L FRET 46 45 91 39
T T 33 32 65 25
% /5 HT 51 52 103 50
L EET 56 68 124 70
R /HT 133 146 279 133
o /HT 41 68 109 65
Farh /HT 141 138 279 142
FARHET 71 81 152 62
AL R HT 132 140 272 126
ERAiTET 137 143 280 119
A&E—TH 127 154 281 136
NE=TH 47 54 101 50
NE=TH 73 85 158 72
NEMTE 100 116 216 116
EE =] 78 86 164 86
AMEENTH 92 127 219 103
RNEATEL 38 52 920 51
&/ —HT 39 49 88 42
&/ —HT 70 105 175 90
&/ _E /T 117 150 267 118
B[ HT 277 270 547 234
75 ] BT 367 364 731 319
Bt BT 105 94 199 92
A E AT 150 179 329 137
k4 ELET 147 119 266 98
At R BT 78 95 173 69
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X TTEEXSE B % HFf R

BAE 356 325 681 289
A X F ET 327 273 600 229
AHErE 74 67 141 72
fE./ = HT 50 65 115 52
2DOLAE 81 113 194 120
SEME 483 473 956 393
[ ZE 0T 201 235 436 184
_ TBRREOaE 4,434 4,701 9,135 4,113
FR#0 (248A%

T HNET 21 23 44 22
ZEMT 45 67 112 52
T EHT 59 65 124 54
PG HT 66 82 148 74
SFHT 61 61 122 60
Y EmET 105 130 235 118
FIATHET 581 562 1,143 482
FRAHET 69 79 148 70
PR ANHT 202 226 428 214
FAANET 89 116 205 100
L ARET—X 133 145 278 132
RHE 232 242 474 207
A £7 163 175 338 165
P 7 gt -3 239 272 511 226
T&ERE 324 330 654 275
APE 167 180 347 152
ARE 113 160 273 128
PE 106 107 213 94
[E Fh i EHET 512 496 1,008 499
& T 541 559 1,100 477
AR O HET 376 401 777 313
[E R HET 201 228 429 154
tERE—X 226 268 494 233
tEEZX 338 305 643 274
ITHREOER 4,969 5279 10,248 4,575




X TTEEXSE B % HFf R

KIE (16EHAR)
SN 58 63 121 50
HiE 78 80 158 69
=y 73 68 141 62
KA 491 489 980 459
Yz 190 184 374 169
BHR 260 257 517 233
/A EH T 158 177 335 134
e 4 i 236 203 439 240
yirAm| 324 324 648 337
iR 293 242 535 292
Rhgrk 104 109 213 86
mNSs R 283 282 565 262
mhNrE 145 136 281 120
sy 176 188 364 158
AR 207 221 428 175
ark 149 188 337 204
TBREOEE 3225 3,211 6,436 3,050

EHB (MMBAE
T EmET 186 196 382 146
HITH 687 714 1,401 596
Ny B 161 261 422 175
REEETHT 374 399 773 379
MENE 171 205 376 144
e 223 232 455 186
Pa{E = EFHET 584 602 1,186 546
Fa R EPHT 194 239 433 206
T ENERETER 735 757 1,492 598
T B FTET 3R 329 323 652 311
 Bf = T 404 382 786 359
THREOER 4,048 4310 8,358 3,646

BB (BEAR)

+ 211 227 438 177
AR 932 1,006 1,938 797
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X TTEEXSE B % HFf R

BF 315 352 667 2717
920 103 193 80
FH 141 165 306 132
R EFHT 246 257 503 225
ER{EHT 146 184 330 140
79 1+ AT 164 196 360 132
TR D &E 2,245 2,490 4,735 1,960
BA= GEBER)
K ith iz BT 332 325 657 261
rh 3z BT 212 167 379 133
R ILHET 143 142 285 93
3 ErHT 713 728 1,441 529
BENE 491 473 964 306
TBRREDEE 1,891 1,835 3,726 1,322
B (4EA%)
Fhrh 111 125 236 98
HwEF 226 276 502 203
ENA 27 36 63 28
g O 25 34 59 28
THRREDOEE 389 471 860 357
RE3 (BEBR)
) 313 340 653 300
L 191 205 396 164
T 110 126 236 98
A ] 3 62 88 150 85
= 188 183 371 174
AR 122 98 220 99
ZH 47 43 90 44
BE 103 105 208 87
ITHREOER 1,136 1,188 2,324 1,051
2= (2088%)
LA 380 385 765 342
T 66 63 129 50
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X TTEEXSE B % HFf R

= 237 228 465 187
B ERER 72 81 153 58
MAF 82 84 166 54
N 98 100 198 92
3] 177 194 371 145
L1 46 46 92 38
58Iz 42 56 98 42
5% 192 200 392 155
FH 129 166 295 122
HE 330 322 652 296
= 135 107 242 118
IEBASF 395 420 815 303
bk 44 60 104 43
= 48 48 96 38
ID0ETE 65 52 117 50
MLOKE 856 934 1,790 697
E=Fas il 161 162 323 133
FoaE)LX 141 121 262 79
ITHEROER 3,696 3,829 7,525 3,042
e (BEB=
TXRi# 59 66 125 49
—E 12 13 25 11
B 18 20 38 16
FhiE 57 89 146 55
' 183 192 375 167
ax 35 41 76 32
BT 37 46 83 38
ey 8 9 17 8
TR D& 409 476 885 376
2= (138A=
a5 72 65 137 54
poiles 129 112 241 100
it 14 23 37 14
ATl 41 43 84 34
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X TTEEXSE B % HFf R

INK 43 42 85 39
TF 22 25 47 22
=R 17 20 37 24
B 39 39 78 34
&K 51 62 113 46
HE 64 62 126 49
H4ER 122 138 260 108
BT 100 118 218 104
*/8 244 212 456 134
THREOER 958 961 1,919 762
LEARANEB CIEP-ES
R 128 152 280 129
L% 41 54 95 43
4% 39 43 82 38
Y 19 27 46 25
=& 146 202 348 154
th 63 73 136 59
=1 51 43 94 38
& 19 21 40 16
= 8 10 18 8
TBRREDEE 514 625 1,139 510
th 7N AR CI=P=E=
EH 42 46 88 37
FR{ZH 29 32 61 28
Tt 73 85 158 73
thith 33 35 68 32
BIEF 59 71 130 50
KXALLMA 41 50 91 38
15 49 57 106 40
CHE 48 60 108 41
FHEFILH 39 40 79 33
TBRREDEE 413 476 889 372
TARANER CI=p=E=
ZR™ 124 136 260 124
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X TTEEXSE B % HFf R

KH®E 132 148 280 128
KA 82 87 169 74
E# 333 335 668 256
KHAK 714 698 1,412 568
L[S 379 392 771 309
=11 99 98 197 83
PN 54 110 89 199 100
B 15 ET 633 631 1,264 429
ITTHREOER 2,606 2,614 5,220 2,071
i TGy
i 243 229 472 183
MR 123 150 273 114
+= 15 14 29 15
NN 70 69 139 57
+=k 28 32 60 31
fERTRIW 26 27 53 23
T/hME 71 76 147 63
/NE 30 29 59 27
G 31 40 71 30
FTXRA 70 66 136 63
X&E 78 80 158 64
TBREDEE 785 812 1,597 670
E£A (TBBAR)
BE A 116 148 264 102
\a 59 55 114 53
=iE 17 17 34 18
H#0 35 39 74 35
XEEAE 22 23 45 26
RS EFET 173 191 364 155
i 55 56 111 44
THREOER 477 529 1,006 433
=F (BBER)
—JE 108 110 218 93
AE 37 27 64 24
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X TTEEXSE B % HFf R

o= 15 17 32 10
wRET 15 20 35 19
TEARXK 42 44 86 36
h{ER K 16 22 38 22
FEARXK 53 55 108 56

% 23 21 44 24

_ TBREOSE 309 316 625 284
Gl (TBBAR)
RE—X 40 42 82 42
KEZRX 46 36 82 42
TEE 27 30 57 25
b3 14 18 32 18
EEE 19 18 37 20
7% 34 48 82 41
KkE 43 46 89 43
_______ THROEE 223 238 461 231
ER (1BAR)

= 135 154 289 128
_ TBRREOaE 135 154 289 128
T (1BBR)

T 804 313 1,117 1,111
TBRREDEE 804 313 1,117 1,111
[BETHETD&ET 33,666 34,828 68,494 30,064

|H =F0H#T
=R (6BER)

#ET— 112 118 230 102

HERTZ 71 78 149 75

IR 153 167 320 116

=% 51 48 99 35

=F 70 77 147 65

X5 146 150 296 116

_______ TBRREOEE 603 638 1,241 509
MR (10EAR)
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X TTEEXSE B % HFf R

FEEEVN 26 30 56 25
B/& 7 10 17 8
HH 86 104 190 88
it 136 126 262 102
TR 285 286 571 324
FE 62 75 137 67
B 50 52 102 49
=l 215 248 463 205
b 49 44 93 37
HH 0 0 0 0
ITHREOER 916 975 1,891 905
ne (6BER)
N[ 61 77 138 65
=] 57 69 126 54
EiE 85 91 176 84
[ 51 63 114 52
TIE 58 62 120 61
hnF 7 6 13 7
TBRREDEE 319 368 687 323
[BETD & &t 1,838 1,981 3,819 1,737
|B7R A BT HT
THRAE (17TBAS
B 19 20 39 16
Fifi A 14 18 32 17
GiERE] 21 23 44 25
TE 16 19 35 20
CiEEAY 22 24 46 19
£ 21 21 42 20
/N 7 13 20 15
SEF 82 99 181 66
H#H 80 96 176 74
THT 93 94 187 74
FHEr 45 62 107 45
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X TTEEXSE B % HFf R

B 33 36 69 22
B 46 42 88 29
] 119 132 251 109
tFE 28 38 66 25
PR 23 24 47 19
TFIR 54 61 115 57
TBREOEE 723 822 1,545 652
RRAE GEBR
HE& 84 88 172 74
X 54 69 123 50
=1L 78 82 160 58
KB+ 82 94 176 67
INE 87 99 186 79
TBRREDEE 385 432 817 328
ERAE (2488
P18 82 83 165 62
2l& 87 85 172 58
e 53 62 115 45
Gk 1 3 4 4
PNz 20 27 47 20
&8 18 24 42 17
PGig 40 44 84 28
=18 20 27 47 16
RE 20 21 41 18
& 15 20 35 18
FH 56 69 125 54
FHEr 17 27 44 18
=8 27 18 45 21
PRI= 32 43 75 31
H&1E 31 28 59 26
IH 20 20 40 17
= 10 13 23 12
H& 5 4 9 5
g 45 54 99 39
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X TTEEXSE B % HFf R

KE 25 37 62 34
7K 38 52 920 33
ERAT 62 70 132 52
Bk 3R 8 11 19 8
B"AE 7 5 12 5
TR EE 739 847 1,586 641
IBTHETD & 1,847 2,101 3,948 1,621
|B KT HET
SA[SF (BEB=
+% 80 65 145 51
RE 70 85 155 59
EE 200 243 443 159
£ 29 31 60 29
THET 109 126 235 108
R 88 111 199 83
AK 72 73 145 61
#HT 62 69 131 55
ITHREOER 710 803 1,513 605
AlsF b (1088%)
BEiESF 53 48 101 52
ER 15 16 31 16
LR 7 6 13 8
A= 39 42 81 36
e 52 70 122 69
—R= 35 34 69 29
ZIR= 55 61 116 39
EEnE 28 29 57 21
XHEA 113 128 241 108
E=ES 14 20 34 22
TBRREDEE 411 454 865 400
i) (6BAR)
e 70 66 136 54
ING 7 6 13 9
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X TTEEXSE B % HFf R

INRH 42 36 78 39
NET 43 52 95 38
AELE 67 75 142 54
A % 6 12 18 9
TR D& 235 247 482 203
AR (9BBR)
FIR 35 34 69 30
=¥ m| 62 69 131 49
kR 49 51 100 36
HEB 17 20 37 18
w2 28 45 73 28
£ H 20 21 41 22
FaED 53 61 114 44
=l 51 47 98 34
BERJ—rElL 118 109 227 75
TRROEE 433 457 890 336
Fig L (BBBER)
M 46 46 92 30
[ 48 58 106 46
= 46 59 105 45
Y 36 40 76 33
— 52 63 115 42
= 28 32 60 24
= 24 24 48 17
bt 31 37 68 28
TBRREDEE 311 359 670 265
BT (bEBAR)
—HE 61 61 122 48
—&TF 72 82 154 62
MR 11 12 23 9
=i 51 64 115 44
(=)= 918 65 62 127 56
TBREOEE 260 281 541 219
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X TTEIXAE 5 % &FF MK

IBTHETD &5t 2360 2,601 4,961 2,028
WEE 39,711 41,511 81,222 35,450
(32988%
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